— i+

K4 @ 1 2 3 £ | MEDE
1 | #rBd-PEA (Hh3) @ @ 0 1
2 | BEehkR OMRRERE) | R R 3 —4-
3 (Fhake 125 (CEPER) 0 @ 1 2
4 | aFE ) G 0 @ 3 2 3
K4 @ 5 6 7 £ | MERE
5| FeAREkH  Gdbs) @ @ 1 2
6 | NEg-PT ~  (BIkirs) 2 0 3 4
7| Bk Oikel) 1 1 2 3
S|wmk-ry (EiE) | @ | @ | @ 0 1
K4 @ 9 10 11 e
9 | BiAprm Gl @ | 2 2
10| IR 37T CHEPEmE) 1 0 3
1| maekti Gk | @ | @ 1
=T HRYT
K4 @ 1 2 3 £ | NEDE
1| HBH- B ko /MR @ | @ 1 2
. (AL
2 | WL AR VD) 0 1 2 3
3| Arik-dmE MR 1 3 3 4
Al SE2e oRatR (1000 (M (M A n 1

FrBA - FEN



